mean

# PXL hits vs eta

<pixel hits> [

Ratio

wW

N

a1
T T

I
T T

=
T

H

0.95

i WWH |

-3 —2 -1 0 1 2 3

n

3
®
*

T
X
=
—
£
o}
£
=
3
3

<pixel layers>

w
2] N
RN
-
-
-

N . 3
N o1 w =1
|||||||||||i||||||||||
‘m
: ®
: b
' 7))
: <
: o
@
: 2
. <
. /2]
: o
.

=
[6)]
[T

Ratio

%*******Wﬂ#*#*ﬁ%w#

mean

# STRIP hits v

<strip hits> ™

Ratio

14f

12}

—=— DQM_original_step2_ttbar-phasel-newgeo
—e— DQM_pixelCPE_step2_ttbar-phasel-newgeo
—— DQM_pixelCPEANdChi2_step2_ttbar-phasel-newgeo

Ratio




	Contents
	Page 1


